A& ol & AF 2 & Al A
0224% =3 2 3 Letsd
fA: 23220
g 200 Mol
2 210 24 HM2 =8
Ej 211 Moty O =& (cte &
SA-&-2-8.-5 O &4 I EH Hns
3 A 13,650,209 13,293,271 356,938
2ak2 13,650,209 13,293,271 356,938
200 Al2l=+=¢l 4,038,347 3,844,527 193,820
210 ZYH M2 +¢ 1,438,347 1,244,527 193,820
211 A= 738,548 720,522 18,026
211-02 SFMHAL U= 738,548 720,522 18,026
goll 2E=2001BLEE MWL AER 12,738 0 12,738
— ZEY MER 9,994 0 9,994
- 0H&E AEE 2,744 0 2,744
OH2lA0I9a & SAIN(2MA) HEWY AEE 2,988 0 2,988
OSU20IS S 2elE2 2,300 0 2,300
214 A ¢l 436,599 260,805 175,794
214-05 J|EtAIE =& 436,599 260,805 175,794
OOtHHEl ol 228 2g 3402 &3 415,794 240,000 175,794
500 2x= 9,611,862 9,448,744 163,118
510 = 12x3SS 5,150,641 5,034,661 115,980
511 218X =8 5,150,641 5,034,661 115,980
511-01 =2 x= 3,655,660 3,698,680 A 43,020
O20zl2n Shote SA=3 23S 2+3A (48
&)
58,380 31,200 27,180
OZclot=dlZ gu2ZIod d & 2208 29 0 66,000 66,000
OAMHOIA Ol OISEZHE B 0 4,200 4,200
511-03 Jl= 589,981 430,981 159,000
OAMHOIA Ol OISEZHE B 4,200 0 4,200
O2ZX LA-SEHM HEX 2 AL 52,800 0 52,800
OZclot=dZ gu2Zlod d & Z208 29 66,000 0 66,000
020228 SS0FEHE XA (B3 A=t AF)AY 28,000 0 28,000
O0rgd AHHALAE HHES X&A 8,000 0 8,000
520 Al - THIEZXSS 4,461,221 4,414,083 47,138
521 Al - SHIEXESS 4,461,221 4,414,083 47,138
521-01 Al - THIEX =S 4,461,221 4,414,083 47,138
Oddlgn ssud 29 3,300 2,040 1,260
Holgtn dS2s HS(|E <) 4,050 2,022 2,028
OXNE=23d g8 NI (FEML2STZAN S) 5,000 4,000 1,000
OXNA=2sd g5 N (252 & &AL 2,250 2,000 250
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3 2x3

= 520 Al - SHIE XSS

&t 521 Al - SHIEXZ=S

SN2 Ol &k 24

0230z NA(ROIs SBHZAHE) 8,000
OS2ANA2SHI H2LI| NAAY 20,000
OOt & OHESMAIE HE2 XD 1,200
020228 S=OFEE X2 (BYI T2 2H)A 8,400

Og= =012 H Il =AH 5,000




